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QUESTION NO: 1

Edit transform

Configuration
1 1
CCNPCollab i
Regex v

iring * ([*0-7TDH(\d{3.5}) L

Replace v 1
\1'2@ccnpeollab.com I

Enabled v 1

Save Delete Cancel

Refer to the exhibit. What is the result of a transformation applied to alias 885147
A. 98851@ccnpcollab.com
B. 88513@ccnpcollab com
C. 88514@ccnpcollab.com

D. 88515@ccnpcollab.com

ANSWER: A

QUESTION NO: 2

Jabber cannot log in via Mobile and Remote Access. You inspect Expressway-C logs and see this error message:
XCP_JABBERD Detail="Unable to connect to host '%IP%', port 7400:(111) Connection refused"

Which is the cause of this issue?
A. Rich Media Session licenses are not activated on Expressway-E.

B. Expressway-E is listening on the wrong IP interface.
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C. The destination port for Expressway-E is set to 7400 instead of 8443 on the Expressway-C.

D. The XCP Service is not activated on Expressway-E.

ANSWER: B

QUESTION NO: 3

An organization with a domain name of example.com.

Which two SRV records are valid for a SIP and H.323 communication? (Choose two.)
A. sips._tcp.example.com

B. _sips._udp.example.com

C. h323Is._udp.example com

D. h323Is._tcp.example.com

E. _collab-edge._tls.example.com

ANSWER: AC

QUESTION NO: 4

What should be considered when using the Cisco Webex hybrid service?

A. Directory Connector must be deployed for OBTP to work with on-premises video devices
B. Directory Connector is required for Azure AD

C. Hybrid Message service works only with Jabber cloud deployment

D. Expressway Connector is required for an on-premises Exchange server

ANSWER: B

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/solutions/PA/overview/12x/hybpa12x.html

QUESTION NO: 5

Between which two DTMF relay methods does the Expressway support interworking? (Choose two.)
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A. unsolicited notify
B. RFC 2833

C. KPML

D. passthrough

E. H.245 user input indication

ANSWER: B E

Explanation:

Reference: https://www.cisco.com/c/dam/en/us/td/docs/voice_ip_comm/expressway/admin_guide/Cisco-Expressway-
Administrator-Guide-X12-6.pdf

QUESTION NO: 6

What are two reasons why port 8443 is unreachable from the Internet to the Expressway-E? (Choose two.)
A. The MRA license is missing on the Expressway-E.

B. The Unified Communications zone is down.

C. Transform is not configured on Expressway-E.

D. The SRV record for _cisco-uds is misconfigured.

E. The firewall is blocking the port.

ANSWER: D E

QUESTION NO: 7
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C:\Users\Administrator>nslookup
Default Server: Win20lé-AD.example.com
Address: 192.168.10.10

> set type=all

> cisco-uds. tcp.example.com4
Server: Win20leé-AD.example.com
Address: 192.168.10.10

_cisco-uds. tcp.example.com SRV service location:
priority = 10
weight = 10
port = 8443
svr hostname = cucm.example.com

> collab-edge. tls.example.com
Server: Win20lé-AD.example.com
Address: 192.168.10.10

_collab-edge. tls.example.com SRV service location:
priority = 10
weight = 10
port = B443

svr hostname = exXpressway-e.example.com

Refer to the exhibit. When a Jabber user attempts to connect from outside of the organization, the user enters the login
information as "user@example.com" and receives the error "Cannot find your services Automatically". The engineer tries to
resolve SRV records used by Jabber.

DNS A record "expressway-e.example.com" points to the Expressway-E IP and "cucm.example.com" points to the Cisco
Unified Communications Manager.

Which change resolves the DNS problem?

A. Change cisco-uds to point to the Expressway-E FQDN.
B. Change the collab-edge record to point to 5061.

C. Remove the cisco-uds SRV record for the external DNS.

D. Change the priority of the SRV record for cisco-uds.

DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com


https://dumpsqueen.com/

DUMPSQUEEN

ANSWER: C

QUESTION NO: 8

Which connection does the traversal zone configuration define?
A. Expressway-E and Collaboration Endpoints

B. Cisco UCS E-Series and Cisco UCM

C. Cisco UC and Cisco Unified Presence Server

D. Cisco Expressway-C and Cisco Expressway-E platforms

ANSWER: D

Explanation:

Reference: https://www.cisco.com/c/dam/en/us/td/docs/voice_ip_comm/expressway/config_guide/X8-11/Cisco-Expressway-
Basic-Configuration-Deployment-Guide-X8-11-4.pdf

QUESTION NO: 9

An administrator has been tasked to bulk entitle 200 existing users and ensure all future users are automatically configured
for the Webex Hybrid Calendar Service. Which two options should be used to configure these users? (Choose two.)

A. Export a CSV list of users in the Cisco Webex Control Hub, set the Hybrid Calendar Service to TRUE for users to be
enabled, then import the file back to Manage Users menu in the Cisco Webex Control Hub.

B. Set up an Auto-Assign template that enables Hybrid Calendar.

C. Select the Hybrid Services settings card in the Cisco Webex Control Hub and import a User Status report that contains
only users to be enabled.

D. On the Users tab in the Cisco Webex Control Hub, check the box next to each user who should be enabled, then click the
toggle for the Hybrid Calendar service to turn it on.

E. From Cisco Webex Control Hub, verify the domain that your Hybrid Calendar users will use, which automatically activates
them for the service.

ANSWER: AE
QUESTION NO: 10

Which two items are configured when deploying a B2B collaboration solution? (Choose two.)

A. SIP trunk between Cisco Unified Communications Manager and Cisco Expressway-C
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B. search rules in Cisco Expressway-E
C. SIP trunk between Cisco Unified Communications Manager and Cisco Expressway-E
D. traversal client on a Cisco Expressway-E

E. DNS zone on a Cisco Expressway-C

ANSWER: AB

DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com


https://dumpsqueen.com/

